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Y=2X3-6X2-7X+11

Y = 2(X3 + 3X2AX + 3XAX? + AX3) — 6(X2 + 2XAX + AX?) — 7(X + AX)+11

Y = 2X3 + 6X2AX + 6XAX? + 2AX3 - 6X4 — 12XAX - 6 AX2 = 7X - 7AX +

Y + AY = 6X2AX + 6XAX2 + 2AX3 — 12XAX - 6AX? - 7AX

AX AX
AY =6X2 + 6XAX + 2AX2 — 12X - 6AX =7 lim AX — O

AX

AY = 6X2 - 12X -7
AX




Y=11/4x3 + 7/ 3x?
Y+Ay= 11/4 (x+AX)?3
Y+ Ay = 11/ 4 (x3 +3X2AX + 3XAX? + AX3)
Y +Y+ Ay = 11/ 4x3 +12X2AX + 12XAX? + 4AX3 - 11 / 4%3

Ay = 44X3 — 44X3 — 132X20X - 132XAX2 - 44AX3 / (4x3 +12X20X +
12XAX2 + 4AX3) (4X3)

Ay = - 132X2AX - 132XAX? - 44AX3 [ (B3+12X2AX+12XAX>+4AX3) (4X3)
AX ENTRE AX
Ay = - 132X? - 132XAX? - 44AX3 [ (8x3+12X2AX+12XAX?+4AX3) (4X3)

AX limAX ™ 0
AY = 132X2— 44
AX  (4X3)?

Y+Ay=7/3(x+AX)?2

Y+ Ay = 7/3(x*+ 2xAX + AX?)

Y+Y+ Ay = 7/3x%+6XxAX + 3AX?) -7 / 3X?

Ay = 21X2— 21X2 — 42XAX - 21AX2 / (3X2 + 6XAX + 3AX?) (3X2)
Ay = —42XAX - 21AX? ENTRE AX

AX  (3X2 + 6XAX + 3AX?) (3X?)
AY =-42X-21AX limAX—> 0

AX  (3X?) (3X?)

AY = - 42X
AX  (3X?)?




Y=11-2X2-6X3

Y =11 — 2X2 — 4XAX - 2AX% — 6X3 — 18X2AX-18XAX?- 6AX3
AY = -4XAX — 2AX? — 18X2AX — 18XAX? -6AX3  ENTRE AX

AX

AY = -4X — 2AX — 18X2 — 18XAX -6AX2 lim AX—> 0
AX

AY = -4X — 18X?

AX




Y=X/(X?-8X)
Y=1/X(X-8) =1/X+8
Y=1/(X+AX)+8
Y=1/X+AX+8 -1/X+8
Y=X+8—-X—AX—-8/(X+ AX+8) (X+8)
Y = - AX / (X+ AX+8) (X+8) (AX)
Y =1/ (X+ AX+8) (X+8) (AX)
AY =1/ (X+8) (X+8)
AX

AY = 1
AX (X + 8)?




Y=5/(3X-4)
Y=5/3(X+AX) - 4
Y+AY=5/3X+30X-4
Y+AY=5/3X+30X-4 - 5/3X-4
.Y +Y + AY = 15X — 20 + 15X + 15AX — 20

(3X+3AX—4)  (3X-4)
AY/ AX = 15AX / (3X + 30X —4)  (3X- 4)
AY/ AX = 150X / (3X + 3AX—4)  (3X-4) ENTRE AX
AY/ DX =15/ (3X+30X—4)  (3X-4) limAX— " 0
AY/ AX =15/ (3X—4) (3X - 4)

AY/ AX = 15 / (3X- 4)2

Y = (3X +2) / (2X-1)
Y=3X+30X+2/2X+2AX—-1 - 3X+2/2X-1

Y = 6X +6AX — 3X + 4X + 40X — 2 + 6X + 64X + 4X — 3X - 38X — 2 / (2X
+ 20X — 1) (2X - 1)

AY/ DX = 40X + 30X / (2X + 20X —1) (2X—1) ENTRE AX
AY/ DX =4+3/(2X+20X-1) (2X=1) limAX ™ 0

AY/ DX =7/ (2X - 1)




Y = (3X2+ 1) / (2X)
Y+ AY =3X (X +AX)2+2 [ 2(X+ AX)
Y + AY = 3(X2 + 2XAX + AX2) + 2 / 2X + 20X
Y+ AY =Y =3X2+6XAX + 3AX2+2 /2X + 2AX - 3X2+2/2X
AY = 3X? + 6XAX + 3AX? +2 / 2X + 2AX - 3X? +2/2X
AY = 6X3+12X2AX+E6XAX2+AX-6X3-6X2AX-4X-40X/ (2X+2AX) (2X)
AY/ AX = 12X2AX+6XAX2-6X2AX-40X [ (2X+2AX) (2X) ENTRE AX
AY/ DX = 12X2+6XAX-6X2-4 / (2X+2AX) (2X) lim AX — 0

AY/ AX = 12X2-6X2-4 / (2X)?

Y =5/ (4+X2)
Y+ AY =5/ 4+ (X+ AX)?
Y—Y+AY=5/4+(X+AX)2=5/ (4 +X2)
AY =20 + 5X? =5 (4 + X? + 2XAX + AX?) [ (4+(X+AX)?) (4+X?)
AY = 20 + 5X2 — 20 -5X2 - 10XAX - 5AX2 / (4+(X+AX)?) (4+X2)
AY = -AX (10X- 5AX) / (4+(X+AX)?) (4+X?)
AY/ AX = -AX (10X- 5AX) / AX (4+(X+AX)2) (4+X2) ENTRE AX
AY/ AX = - (10X- 5(0)) / (4+(X+0)?) (4+X2) limAX— > 0
AY/ AX = - 10X / (4+X2) (4+X2)

AY/ AX = - 10X / (4+X2)




Y = (1+2X)?
Y=1+4X
Y=1+4X+4AX—-1-4X
Y =4AX - AX

AY/ DX =4

Y = 3/5X2-3/4X+1/8
Y + AY = 3/ 5(X2+2XAX+AX2)
AY = 3 / 5X2+10XAX+5AX2) — 3 / 5X2
AY = 15X2 — 15X2 - 30XAX- 15AX2 / (5X2+10XAX+5AX2) (5X2)
AY/ AX = - 30XAX- 15AX2 / (5X2+10XAX+5AX2) (5X2) ENTRE AX
AY/ AX = - 30X- 15AX / (5X2+10XAX+5AX2) (5X2) lim AX —> 0

AY/ AX = - 30X / (5X2)?

Y+AY-Y=-3/4X+4AX -3/ 4X

AY = 12X — 12X - 124X / (4X+40X) (4X)

AY/ AX = -12AX / (4X+4AX) (4X) ENTRE AX
AY/ AX =-12 / (4X+4AX) (4X)  limAX — =0

AY/ AX = - 12 / (4X)?

AY/ DX =-30X / (5X2)% - 12 / (4X)?




